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2.3.5 Die Produktregel 
 
Satz: 
Sei 𝑘(𝑥) = 	𝑓(𝑥) ⋅ 𝑔(𝑥) eine Funktion mit beliebiger 𝐷!"#. Dann gilt für die Ableitung: 

𝑘$(𝑥) = 𝑓$(𝑥) ⋅ 𝑔(𝑥) + 𝑓(𝑥)𝑔′(𝑥) 
 
Beweis: 
Sei 𝑘(𝑥) = 	𝑓(𝑥) ⋅ 𝑔(𝑥) eine Funktion mit beliebiger 𝐷!"#. 

𝑘$(#) = lim
'→)

𝑘(𝑥 + ℎ) − 𝑘(𝑥)
ℎ =	

= lim
'→)

𝑓(𝑥 + ℎ)𝑔(𝑥 + ℎ) − 𝑓(𝑥)𝑔(𝑥)
ℎ =	

= lim
'→)

𝑓(𝑥 + ℎ)𝑔(𝑥 + ℎ) − 𝑓(𝑥 + ℎ)𝑔(𝑥) + 𝑓(𝑥 + ℎ)𝑔(𝑥) − 𝑓(𝑥)𝑔(𝑥)
ℎ =	

= lim
'→)

𝑓(𝑥 + ℎ)𝑔(𝑥 + ℎ) − 𝑓(𝑥 + ℎ)𝑔(𝑥)
ℎ + lim

'→)

𝑓(𝑥 + ℎ)𝑔(𝑥) − 𝑓(𝑥)𝑔(𝑥)
ℎ =	

= lim
'→)

𝑓(𝑥 + ℎ)
𝑔(𝑥 + ℎ) − 𝑔(𝑥)

ℎ + lim
'→)

𝑔(𝑥)
𝑓(𝑥 + ℎ) − 𝑓(𝑥)

ℎ =	
= 𝑓(𝑥)𝑔$(𝑥) + 𝑓$(𝑥)𝑔(𝑥) = 𝑓$(𝑥)𝑔(𝑥) + 𝑓(𝑥)𝑔$(𝑥) 

 
q. e. d.	

 
Beispiel: 
 

𝑘(𝑥) = (𝑥* − 2𝑥 + 5) ⋅ (−3𝑥+ + 𝑥, − 1)	
⇒ 𝑓(𝑥) = 𝑥* − 2𝑥 + 5	
⇒ 𝑔(𝑥) = −3𝑥+ + 𝑥, − 1	
𝑓$(𝑥) = 3𝑥, − 2	
𝑔$(𝑥) = −3 ⋅ 5𝑥- + 2𝑥 = −15𝑥- + 2𝑥	
⇒ 𝑘$(𝑥) = 𝑓$(𝑥) ⋅ 𝑔(𝑥) + 𝑓(𝑥) ⋅ 𝑔$(𝑥) =	
= (3𝑥, − 2) ⋅ (−3𝑥+ + 𝑥, − 1) + (𝑥* − 2𝑥 + 5) ⋅ (−15𝑥- + 2𝑥) 


